Lab 4
	Aim of the lab
· Comparisons of two population means

· Comparisons of multiple population means
· Non-parametric tests




Comparisons of two population means
1. Calculate a 95% confidence interval for the population mean birth weight (bwt) among smoker and non-smoker women (help ci).

2. Calculate a 95% confidence interval for the difference in the population mean birth weight (bwt) comparing smoker and non-smoker women. 

The display command allows you to use Stata as a hand-calculator. Check your 
calculation with the output of the command ttest (help ttest).

3. Suppose you are reading a paper and you find the number of subjects, mean and standard deviation of birth weight among smoker and non-smoker women, and you want to perform a t-test (help ttesti). Among N = 100 smoker the mean birth weight was 2900 and the std deviation was 600. Among N = 140 non-smoker the mean birth weight was 3100 and the std deviation was 500. What do you conclude? Is there any difference between mean birth weight among smoker and non-smoker?

Comparisons of multiple population means

4. Calculate a 95% confidence interval for the population mean birth weight (bwt) in each race group (help ci).

5. Test whether the population mean birth weight (bwt) is equal in black, white, and others (race). You can use the command oneway (help oneway). Write what assumptions you have to make for your inference to be valid.
6. Choose the appropriate non-parametric test or tests (signtest, signrank, ranksum, kwallis) for the following null hypotheses. Write the assumptions you have to make in each case.

I. Population median birth weight is 3000 g.

II. Median birth weight is equal in smokers and non-smokers

III. Median birth weight is equal across race groups

IV. The population distribution of birth weight is equal in smokers and non-smokers
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